2023F6A8H A3} R 25—

3R 2F— 1200m #—k -4 D & 320, 128, 80, 48, 325 ’
= . e 2 OE£R 1145 L )| BRISEBFER 534 54 444 10 434 9 335 8 ’ }
Y5ILy FR 2% BIE BAL BE 1:14.4 L—2 5y JIER : MSS 33 MSM 26 SSS 16 SSM 12 Grant /
g | PHEEY | EEMES T i 35 E AR TE=BMER B BHE (& E) Bt HTE=L—R%& L—T14v¥ 95X 3MTE=%EIE BEHK-EEF- A K
B F | KBAMNBZET[B £roi10%| B F 1200 |HTE=RAKE-#8 BF-T 2, 3, AABEBIEE S5{TE=IEA- 10— - BiFRE 244 EAYBF
B 2@ | B 2 |EnEE/AE|m 4T | ¥ 1000 [617H=L—X R—RFIF - chff - #%3F (HEL, NEL, S)EL\) BIE 3 Fyh RBIRE 29-b~4f - 3FA~4F - #IF(5~1) LY 3 FIRR
HEEARGERES WH | £ 5 | F12008% (3 & | By e | L—ALYSFEAL - HBEQOLYSFEAL > 05 OBAKT HIE=1EBEXE2EE GEE) 1. 2. SEBOWE
£E/BE BroX | BERM | 5-7ARM| # TEFR| M % je00m i WA E 3R AFERT 5ERT
R+ —=UT #2]9 co:oc: | KF00.0.T [F=0000 [23.05.12 13 & A3 |23.04.21 R
JIJrE RHEE MA 0000 | F 0001 | 2B HE | A
54.0 095 JII40.0.0.0 | Fr@0.0.0.0 |4 BH 5% 5A i}
11| a2l 7—5« B | A% A 0.0.0.0 | FH0.0.0.0 | 501 k% 54 ®®| 502 k¥
(FoaF43Y4—) K 117 EA0.0.00 [ F50.000 | 1000m 4 B 1:02.3 38.1 [ 800m 4 52.1
YU BR [%]] 0.0.0.1 [% 0001 |£40001 | ---@----[MH 35.7-36.5 332 (4
(k) MMe 0.0.0.1 | #05£03£0i80 | £ 0.0.0.0 | #38 0000 [ 3 94177 57" 2. 1) %%
E A W E S T2 [ 14 ©: . |KZ01.00|F=0000 [23051220 & KAF |23.0420 RF
SELILAIN— ENR £ 418-418 | A& 0.0.0.0 [ F o0.1.00 | 2 HE g | e
= 54.0 .329| F 54-54 N5 0000 | Fm0.0.0.0 | 2 688 3% 3A 438
A 20| Ayas—x B | Ekan 40000 | FHEO0.000 | 418 #JIKE 54 @@ | 431 #)IE
(FLYFFELT ) K3t . 246 FEA0.0.0.0 [ F750.0.0.0 | 1000m 4 B 1:00.5 36.4 | 800m 4 53.1
FEKE [%]] 0.1.0.0 [%0.1.00 | 240100 | ---@----|MH 35.7-36.5 434 (1)
EHEX 0.1.0.0 | 305130580 | £ 0.0.0.0 | 38 0000 [ ¥ 9947 57° (0.3) k%
FRIAYL—2 42 1__# 2 xgo.o.o.l F=0.0.0.1 223.05.26 9 & ;ﬁg 230_%12 KH*
N EHE 184 0.0.0.0 | F 0.0.0.0 B | et
YAV L= 54.0 121 JI% 0000 | Fm0.000 |5 65 6% 5A 638
3 (] oL —5— B | FRER K#4 11980 | 4 0.0.0.0 | FH0.0.0.0 | 463 FnFEE 54 @@ | 466 FnEE
(B FS v kL) K3t .067| X# 11986 | A 0.0.0.0 | F750.0.0.0 | 1200m & # 1:19.8 42.2 | 800m & 54.6
btz sse ] [%]] 0.00.1 [ 0001 |£40001 ]| -® - SSM 37.3-38.4 421 (5)
RAR 0.0.0.0 | 04030580 | £ 0.0.0.0 | 18 0000 | ¥ 423 7 L4¥- 4. 1) %k
R"AO H2 9% Ao xgoom F=0.000 23.05.}212 & ;}t}# zsbqétﬂ RFF
= 5 440000 [ F 0001 |2 5 | e
YT/ TLET L 54.0 .334 N5 0000 | FmM0.000 |6 688 6% 1A 43R
Ly 4 I/ LFXT B | BTE 40000 | FHEO0.000 | 501 %F& 54 ©® | 501 £HE
(haq—v—2X) A3 158 FEA0.0.0.0 [ F750.0.0.0 | 1000m &4 B 1:02.7 38.1 [ 800m 4 52.0
BRKE [51| 0001 [Z0001 [£%0001|---® ---|WH 357-36.5 332 (4
I =88 0.0.0.1 | $05£05£0580 | £ 0.0.0.0 | 38 0000 [ 39947 57" (2.5) 3k
T RIAYVL—2 #2 Jgom I x;o.o.o.l F=0.0.0.0 223 05, 12§15 & ;ﬁg 2:&._0_%.21 K#
R —- & A4 0.0.0.0 | F 0001 5 REE
ALY b=y 54.0 .172 A 0000 | Fm0.000 |5 688 4% 4A 458
5(5(atf yrzsaz B | B 50000 | FE0.0.00 | 472 EAE 54 QB3| 474 EHE
(Fa7%) K 056 FEA0.0.00 [ F50.00.0 | 1000m 4 B 1:02.5 38.8 [ 800m 4 52.2
P FHR [%]] 0.0.0.1 [ 20001 |&45000.1 ~+®- -+ MHH 35.7-36.5 431 (6)
() RAAT-7 ) 0.0.0.1 | 04030580 | £ 0.0.0.0 | 3B 0000 | 3V 9947 57" 2.3) ks
A RASR=—% 42 gw O: ::: 7:2;‘1 0.0.0 [ F=0.0.0.0 23.%5#2%18 & %j)ti# 2%_961.21 X#
S = I B 437-437 | 840000 [ F 1000 | 2 & | #EA
ROVIF TSI (353 7 54-54 | 150000 | 90000 | 1% 2 BR 458
(6|0 |sni—or— HHE ﬁaﬁ 40,000 | FE0.0.00 | 437 54 DD 433 %FH#H
(Majesticperfection) KHF 258 F40.0.00 [ F75000.0 | 1000m % E 1:00.2 36.5 | 800m % 52.0
HiFHIR = i [%]] 1.0.0.0 [ % 1.0.0.0 | 241000 | - -®----[MH 35.7-36.5 534 (2)
=L 1.0.0.0 | 21502080 | £ 0.0.0.0 [ 538 0000 | 3EILN -(-0.3) k%
EAE A 212 . A x;o.ow.o F=0.0.0.0 223 05.12 19 & ;ﬁg 2:&._0_%.21 K#
SN, T 84 0.0.0.0 [ F 0.0.1.0 REE
LAE—2X 54.0 .119 JNI%0000 | Fm0000 |3 63 2% 6A MK 438
T[7|a|pxronstnyx £ | x=M H40.0.0.0 | FFE0.0.0.0 [ 439 FH¥ 54 Q| 43 FE¥E
(F2HHANAIN) K 120 FEA0.0.00 [ F50.00.0 | 1000m 4 B 1:00.7 37.0 [ 800m 4 52.3
Pk =537 [%]] 0.0.1.0 [ £ 0.0.1.0 | 240010 | ---®----[MiH 35.7-36.5 533 (3)
BIBEL 0.0.1.0 | #05£03£0580 | £%0.0.0.0 | +38 0000 [ ¥ 9517 57° (0.5) k%
K34 — 1200miB % 55 R (SEEHHAR : 2021. 06. 06~2023. 06. 05) ERTE HEHSHENE
|[:to3 EHESA HERS 17& 2% 3F &HH BE eboES % ® (%& 1 2 3 45 6 7 8
1 BIRTA TSR 371 39 32 35 265 0.105 0.191 F @ (3#ME) 21 22 22 21 20 21 20 20
2 SYZRA— 317 37 25 31 224 0.117 0196 0 __Z__
3 IREI—LY 376 36 38 44 258 0.096 0.197 7 ® FESV T/ 2L RAIE
4 FOTFIHVRTLR 290 26 21 21 210 0.090 0.183 ENOI6) O 239N SKIF5E1T (534, 544) 4 sk
5 AZ—Ea—X 170 26 24 7113 0.153 0204 _ZZZ_ o 1228 BFAIE L (434, 445) 3 sowk
6 /4O 22 28 2 16 172 0.099 0.190 q, @ #3945 F<Y (255,355 1%
7 o—Fh+Aa7 109 22 14 9 64 0.202 0.330 = BAL:1:16.5 BULVAA (335, 245) 2 ok
8 FARIU—FFry b 156 17 17 21 101 0.109 0.218  _____
9 Ao aIR—5— 185 17 17 1 140 0.092 0.184 ®
10 T RF7Ya— 101 16 8 8 69 0.158 0.238 5

. FeEMTin, SAORENL, HERYE. BTEELE, TATERERTOLBREBALTFAL,
2023%6H8H KH* 3R 2%— HITILv KR 2% BIE 1200m #—*bk-H 5 AEHSOMY, BHMERCET,



